









		S	CHEDULE OF DO	ORS & WINDO	WS		
TYPE	TEN	EMENT NU	MBER				
	WIDTH (METER)	HEIGHT (METER)	AREA (Sq.M.)	SILL LEVEL (METER)	DESC	RIPTION	
(1)	(2)	(3)	(4) = (2)x(3)	(5)	(6)		
FRD	1.250	2.100	2.625	0.000	T.W. FRAMED PANEL DOOR		
FRD1	0.750	2.100	1.575	0.000	T.W. FRAMED PANEL DOOR		
D1	1.000	2.100	2.100	0.000	T.W. FRAMED PANEL DOOR		
D2	0.900	2.100	1.890	0.000	T.W. FRAMED PANEL DOOR		
D3	0.750	2.100	1.575	0.000	T.W. FRAMED PANEL DOOR		
W	1.800	2.150	3.870	0.150	ALUMINIUM SLIDING WINDOW		
W1	1.800	1.400	2.520	0.900	ALUMINIUM SLIDING WINDOW		
W2	1.200	1.400	1.680	0.150	ALUMINIUM SLIDING WINDOW		
V	0.600	0.900	0.540	1.400	ALUMINIUM LOUVERED WINDOW		
RJ	1.200	1.400	1.680	0.900	R.C.C. JALI		
		SC	HEDULE OF LIGH	HT & VENTILAT	TON		
ROOM	TENEMENT NUMBER	CARPET	WINDOW TYPE	L&V REQUIRED	L & V PROVIDED		
					SIZE	AREA	
(1)	(2)	(3)	(4)	(5)=(3)/6		(6)	
LIVING	101	10.725	W	1.788	1.80x2.15	3.870	

101

102

103

BATH.

W.C.

8.800

6.600

4.500

4.510

2.160

2.160

1.440

W2

1.80x2.15

1.80x 2.15

1.20x1.40

1.20x1.40

0.60x0.90

0.60x0.90

0.60x0.90

3.870

2.100

2.100

0.540

0.540

0.540

1.467

1.100

0.750

0.752

0.360

0.360

0.240

2.770 2.660 2.670 Chajja Below	3.360 2.770 2.630	1.050 2.630 B 2.770 2.7	1 Chajja
SLOPE 2.360	Chajja Chajja RJ O.H.WATER TANK (FLUSHING) 3.06X1.50X1.80 =8,262 LTR. Chajja Below SLOPE 2.330 Chajja Below SLOPE 2.3700 Significant of the property of the propert	2.330 OS TERR. BÉLOW Chajja Below 3.0	TENR. SC. BELOW Chajja Below Chajja Below TERRACE OPEN TO SKY LVL.+23.65M. Chajja Below Chajja
L_Chajja L Chajja Below Below 5.200	LIFT OF LIFT OF LADDER	VENTILATION SHAFT SHAFT TERRACE OPEN TO SKY LVL.+23.65M.	5.200 Chajja Below 5.200
4.450	4.810	3.450	4.150
Chajja Below Chajja Below 5.200	TERRACE OPEN TO SKY LVL.+23.65M. VENTILATION SHAFT	LADDER DI ADD. BELOW OF LIFT &	Chajja Below
TERRACE OPEN TO SKY LVL.+23.65ML SLOPE		2.700 Q	O.H.WATER TANK TERRACE OPEN U.S. O.S. O.S
Chajja Below Chajja Below Chajja Below SLOPE SLOPE	Chajja Chaj	Chajja Below O.H.WATER TANK (FIRE FIGHTING) 3.06X1.90X1.80 =10,465 LTR. 3.06 RJ Chajja B	Chajja RJ BELOW 25 2.360 SLOPE
2.770 Chajja A Below 2.820 2.820	2.700 2.630 1.050 Below Below 2.630 2.630		2.670 Chajja Below 2.770
TERRACE FLOOR PLAN			

SCALE = 1:100

			TENER	MENT AREA	OF INDIVIDUAL	LUNIT			
BUILDING	WING		FLAT/SHOP	4700000	RERA CARPET	BALCO	NY AREA	TERRACE	BUILT UP
NUMBER	NUMBER	SALE/EWS	NUMBER	UNITS	AREA IN	ENCLOSED	PROJECTED	AREA (SQ.M.)	AREA (SQ.M.)
		SALE	101	1	31.821	1.913	0.000	6.392	37.420
		SALE	102	1	31.821	1.913	0.000	6.392	37.156
	SALE	103	1	31.372	2.295	0.000	6.407	37.090	
	SALE	104	1	31.372	2.295	0.000	6.407	37.324	
	SALE	105	1	31.821	1.913	0.000	6.392	37.156	
	SALE	106	1	31.821	1.913	0.000	6.392	37.186	
	SALE	107	1	31.372	2.295	0.000	6.407	37.090	
	SALE	108	1	31.372	2.295	0.000	6.407	37.324	
		SALE	201	1	31.542	1.912	0.000	6.479	37.420
		SALE	202	1	31.542	1.912	0.000	6.479	37.156
		SALE	203	1	31.296	2.295	0.000	5.501	37.090
		SALE	204	1	31.296	2.295	0.000	5.501	37.324
		SALE	205	1	31.542	1.912	0.000	6.479	37.156
		SALE	206	1	31.542	1.912	0.000	6.479	37.186
		SALE	207	1	31.296	2.295	0.000	5.501	37.090
		SALE	208	1	31.296	2.295	0.000	5.501	37.324
1		SALE	301	1	31.821	1.913	0.000	6.392	37.420
		SALE	302	1	31.821	1.913	0.000	6.392	37.156
		SALE	303	1	31.372	2.295	0.000	6.407	37.090
		SALE	304	1	31.372	2.295	0.000	6.407	37.324
		SALE	305	1	31.821	1.913	0.000	6.392	37.156
		SALE	306	1	31.821	1.913	0.000	6.392	37.186
		SALE	307	1	31.372	2.295	0.000	6.407	37.090
		SALE	308	1	31.372	2.295	0.000	6.407	37.324
.		PASSIBLE.	401	1	31.542	1.912	0.000	121000	
3		SALE					0.000	6.479	37.420
		SALE	402	1	31.542	1.912	0.000	6.479	37.156
		SALE	403	1	31.296	2.295	0.000	5.501	37.090
		SALE	404	1	31.296 31.542	2.295 1.912	0.000	5.501 6.479	37.324
- 1		SALE	406	1	31.542	1.912	0.000	6.479	37.156 37.186
- 1		SALE	407	1	31.296	2.295	0.000	5.501	37.090
- 1		SALE	408	1	31.296	2.295	0.000	5.501	37.324
- 1		SALE	501 502	1	31.821 31.821	1.913	0.000	6.392	37.420 37.156
		SALE	503	1	31.372	2.295	0.000	6.407	37.090
		SALE	504	1	31.372	2.295	0.000	6.407	37.324
		SALE	505	1	31.821	1.913	0.000	6.392	37.156
		SALE	506 507	1	31.821 31.372	1.913 2.295	0.000	6.392	37.186 37.090
		SALE	508	1	31.372	2.295	0.000	6.407	37.324
		SALE	601	1	31.542	1.912	0.000	6.479	37.420
		SALE	602	1	31.542 31.296	1.912 2.295	0.000	6.479	37.156
		SALE	604	1	31.296	2.295	0.000	5.501	37.090 37.324
		SALE	605	1	31.542	1.912	0.000	6.479	37.156
		SALE	606	1	31.542	1.912	0.000	6.479	37.186
- 1		SALE	607 608	1	31.296 31.296	2.295	0.000	5.501	37.090 37.324
	SALE	701	1	31.821	1.913	0.000	6.392	37.420	
		SALE	702	1	31.821	1.913	0.000	6.392	37.156
- 1		SALE	703	1	31.372	2.295	0.000	6.407	37.090
- 1		SALE	704 705	1	31.372 31.821	2.295 1.913	0.000	6.407	37.324 37.156
- 1		SALE	706	1	31.821	1.913	0.000	6.392	37.186
- 1		SALE	707	1	31.372	2.295	0.000	6.407	37.090
		SALE	708	1	31.372	2.295	0.000	6.407	37.324

STAMP OF APPROVAL

BUILDING - 3

This Amended
Commencement Certificate
is approved subject to the
conditions mentioned in
Amended Commencement
Certificate bearing no.
CIDCO/NAINA/Panvel/Shiv
kar/BP-00332/ACC/2022/0
214 dated 22 June 2022.

TYPICAL 2ND, 4TH & 6TH FLOOR PLAN, TERRACE FLOOR PLAN,

TENEMENT AREA STATEMENT, SCHEDULE OF DOOR & WINDOW, SCHEDULE OF LIGHT & VENTILATION.

DESCRIPTION OF PROPOSAL AND PROPERTY

AMENDED DEVELOPMENT PERMISSION FOR PROPOSED RESIDENTIAL CUM COMMERCIAL BUILDING ON LAND GUT NO. 188/3, 188/4A, 188/4B, 188/4C, 188/4D, 188/7, 190/1, 190/2, 190/3, 192/1, 192/2, 194/0, 195/2, 195/3, 195/5, 195/6, 195/7, 195/8, 195/9, 198/3, 198/4, 198/5, 198/6, 198/7, 200/1, 200/2, 200/3, 200/4, & 201/0 OF VILLAGE - SHIVKAR, TALUKA - PANVEL, DISTRICT - RAIGAD)



NAME & SIGNATURE OF ARCHITECT

SCALE 1: 100
DATE 15/06/2022
DRAWN. BY. BALAII
DELT. BY. Ar. Omair
CHECK. BY. Ar. TEJASWINI
PROJECT NO HSA P-273

ARCHITECTS

HITEN
JAGDISHCH
ANDER
SETHI
Date: 2022.06.15
12:38:42 +05'30'

Ar. HITEN SETHI
(CA/93/164)

HITEN SETHI ARCHITECTS
RCHITECTS | PLANNERS | INTERIOR ARCHITECTURE | PROJECT MANAGEMENT
IEAD OFFICE: Ground Floor, Yayati CHS, Plot no. 9, Socior - 58 A. Palm Beach Road,
Nerol, Navi Murrbai, Maharashtra, India - 400 706
T: +91-92-2732 S300 | F: +91-92-2737 2166
Email: info@hitensethi.com | admin@hitensethi.com | Web site: www.hitensethi.com



